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2 66,000
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01 XIXISHAZ2E 96,800 112,200 A 15,400
OMSCIYY 2K 96,800
2 66,000
= 30,800
oSS PRRME 2Y(2D) 160,000 100,000 60,000
=2 50,000
= 110,000
307 12+0I A 160,000 100,000 60,000
2 50,000
= 110,000
02 BAIAEE 160,000 100,000 60,000
ONMEES PXHE 2 160,000
2 50,000
= 110,000
MENALY SEHUHH(ID) 80,000 146,000 66,000
= 80,000
403 RXISHSKHZ0IH 80,000 146,000 166,000
= 80,000
01 XXISHAEBE 80,000 146,000 166,000
OMEBNEEN SEHUM(HSAS =€) 80,000
= 80,000
O - Mg ©5 143,000 113,000 30,000
301 Yot A 3,000 6,000 3,000
12 JlEH2 &3 3,000 6,000 3,000
OOtMES YYMDIR Z4 3,000
308 XHXIEHH SO0 140,000 92,000 48,000
01 UXSHZALES 140,000 92,000 48,000
ONMSE THS4 X 140,000
HHSAAY (BB RMD)(JIEHIIEH) 155,769 139,665 16,104
olzi2 o] 97,665 89,830 7,835
TR oA X 97,665 89,830 7,835
101 Q1214 89,865 89,830 35
02 JIEE =4 89,865 89,830 35
OHIOIQHIE SR H23 A 89,865
os3 72,547
-0 36,273,5002 x22 72,547
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-22UIt=H 20,000& x12& 6 H 1,440
O&ZEXH| 155,000 *12& x2H 3,720
OFMZAH| 130,000 = 128 x2H 3,120
OAIZ2tl4=¢ 65,4823 *35A| 2Hx2H x12& 5,445
odolersy| 50,000& x12& »2H 1,200
O I At
33,483,000 *1/12%70%*1/30%2H x 11 1,433
204 X FSHAHH| 7,800 0 7,800
MEEEEEEEE 4,200 0 4,200
ostag=g 350,000& x12& 4,200
02 Mg =xH| 3,600 0 3,600
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Jl23Hl 58, 104 49,835 8,269
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201 LEH2AH| 42,704 36,375 6,329
01 AP Zeltl 40,544 34,215 6,329
OBASY AIR22teld] 40,544
02 s394l 2,160 2,160 0
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202 04l 14,400 12,960 1,440
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NWLES(SHEAMEMY) (SFBS/HIIS) 145,500 0 145,500
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